THE ASIAN SCHOOL, DEHRADUN
HOMEWORK FOR WINTER VACATION 2024 CLASS IX

English:
1) Write the value points, message and central theme of the following lessons:
(1) A House is Not a Home (1) The Beggar

2) Write a story in 200 words with the
Topic: The Price of a Lie
Moral: Even the smallest lie can grow into a web that traps you, teaching the importance of honesty
and accountability in building trust.

3) Write a descriptive paragraph in around 120 words on - “The Warmth of a Winter Fireplace”
Paint a picture of sitting by the fireplace on a chilly evening . . .

4) While going home, you came across many children on the roads at crossroads with begging bowls in
their hands.
You were shocked and disgusted by this unflattering picture of a country that boasts of being a major
economy in the world. Record your experience in your diary.

5) Grammar

=]

Complete the following tasks, as directed.

1 Fillin the blank by using the correct form of the word in the bracket, for the given portion of a letter:
Dear Sir
This is with reference to committee’s letter of recommendation that (highlight) the
nominations for ‘Safe
Residential Area’ award for this current year.
2 Read the given sentence from a recipe review article. Identify the error and supply the correction in the
sentence.
This delightful recipe must keep your hunger pangs at bay with its balanced spices and oriental flavour.
Use the given format for your response.
Error Correction
3 Fill the blank by choosing the correct option, to complete the concluding line of an issued circular by an
Organisation, to its Managers.
A copy of the plan is enclosed and (that/ then/ this) may be communicated to all Team
Leaders for
compliance.
4 |dentify the error and supply correction for the given sentence from a commercial company’s current
marketing strategy.
The company aimed at increasing authority in areas frequently visited by the clients.
Error Correction
5 Select the option that identifies the error and supplies the correction for the closing line, from an
analytical report.
In conclusion, this study explores the association among short-sleep pattern and overweight youngsters.
Option Error Correction
A explores explore

- Bandor
C among between
Din for

6 Complete the given narrative, by filling the blank with the correct option.



The experience of nursing an injured bird left me ____ grateful for knowing the importance of being kind
and

compassionate to all creatures.

A. feeling B. having felt C. felt D. feels

7 Fill the blank by choosing the correct option to complete the live feed on a school news channel.
Congratulations Change Makers!

The regional competition awards have been announced and our school music club the first
prize.

A. had been won B. will win C. was winning D. has won

8 Complete the line from a self- awareness song, by filling the blank with the correct option.

The river runs through your veins

The trees and mountains your name

The moon and stars watch over

You're guiding your way back home

To dream the night away.

A. will call B. call C. had called D. calls

9 Identify the error and supply correction for the following note in a passengers’ flight instruction
manual:

Note- Passengers will not reach the airport late in order to avoid a fine equivalent to 5% of the basic fare.
Use the given format for your response,

Error Correction

10 Read Priya’s reply to her manager, explaining the time needed to finish a task.

"I need some more time to finish this task," said Priya.

Report Priya’s reply by completing the following sentence correctly:

Priya said that she some more time to finish the task.
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SCIENCE
PHYSICS :
INSTRUCTIONS :
1-Homework is to be done neatly in Physics Notebook.
2-There are 20 questions. Students have to write all 20 questions and their answers in the Notebook.

Q1. A bus accelerates uniformly from 18 km/h to 36 km per hour in 10 second calculate the acceleration.
Q2. A car travelling at a speed of 10 m per second stops in 4 second after the application of break. If we
assume the retardation to be constant
a) draw a speed time graph for the above information
b) find the retardation.
c) find the distance travel during this time.
Q3. A ball is gently dropped from a height of 20 m. If its velocity increases uniformly at the rate of 10 ms?,
with what velocity will it strike the ground? After what time will it strike the ground?
Q4. An athlete runs along a circular track of radius 100m. Calculate the displacement of the athlete and the
distance travelled by him, when he covers (3/4)" of the track.
Q5. A car travels the first half of the distance between two places at a speed of 40km h™ and the second
half at the speed of 60 km h'’. Calculate the average speed of the car.
Q6. The following is the distance time table of an object in motion :

Time Distance in metres

0 0

1 il

2 8

3 27
4 64
5 125
6 216
7 343

(a) What conclusion can you draw about the acceleration? Is it constant, increasing, decreasing or

zero?

(b) What do you infer about the forces acting on the object?
Q7. Two persons manage to push a motorcar of mass 1200 kg at a uniform velocity along a level road. The
same motorcar can be pushed by three persons to produce an acceleration of 0.2 ms?2. With what force
does each person push the motor car? (Assume that all persons push the motorcar with the same muscular

effort)
Q8. A hummer of mass 500 g moving at 50ms™, strikes a nail. The nail stops the hammer in a very short
time of 0.01s. What is the force of the nail on the hammer?

QS. A motor car of mass 1200 kg is moving along a straight line with a uniform velocity of 90 km/h. Its
velocity is slowed down to 18 km/h in 4 s by an unbalanced external force. Calculate the acceleration
and change in momentum. Also, calculate the magnitude of the force required.

Q10. Using second law of motion, derive the relation between force and acceleration. A bullet of 10 g

strikes a sand- bag at a speed of 10°ms™ and gets embedded after travelling 5 cm. Calculate
(i) the resistive force exerted by the sand on the bullet

- (ii) the time taken by the bullet to come to rest.

Q11.The weight of a body on the surface of earth is 392 N. What will be weight of this body on a planet
whose mass is double than that of the earth and radius is four times the radius of the earth?



Q12. Find the ratio of the weight of an object of mass 50 kg on the earth and on moon. (Given, acceleration
due to gravity on moon = 1/6" of g on earth)

Q13. A ball is thrown upward with a speed of 15m s™. Find the distance travelled by the ball in 2 5. Take

g=9.8ms’2.

Q14. An object is thrown vertically upwards and rises to a height of 20 m. Calculate (i) the velocity with

which the object was thrown upwards, (ii) the time taken by the object to reach the highest point.

Q15. A light and a heavy object have the same momentum. Find out the ratio of their kinetic energies.

Which one has a larger kinetic energy?

Q16. An automobile engine propels a 1000 kg car (A) along a leveled road at a speed of 36km h™. Find

power if the opposing frictional force is 100N. Now, suppose after travelling a distance of 200 m, this car

collides with another stationary car (B) of same mass and comes to rest. Let its engine along stops at the

same time. Now car (b) starts moving on the same level road without getting is engine started. Find the

speed of car (B) just fater the collision.

Q17. A girl having mass of 35 kg sits on a trolley of mass 5 kg. The trolley is given an initial velocity of 4 ms™

by applying a force. The trolley comes to rest after traveling a distance of 16m. (a) How much work is done

on the trolley) (b) How much work is done by the girl?

Q18. Four men lift a 250 kg box to a height of 1 m and hold it without raising or lowering it. (a) How much

work is done by the men in lifting the box? (B) How much work do they do in just holding it? (c) Why do

they get tire while holding it? (g = 10 m s7)

Q19. A pump can lift water of 150 kg in 15 second ,to store it in an overhead tank at a height of 15 m. find

the power of the pump.

Q20. If in an oscillating pendulum ,the extreme position is at a height of 6 cm from the reference level. find

the kinetic energy and the potential energy at extreme position and mean position when the mass of the
body is 2 gram.

CHEMISTRY:
INSTRUCTIONS :
1-Homework is to be done neatly in Chemistry Notebook.
2-There are 20 questions. Students have to write all 20 questions and their answers in the Notebook.

Q1. Which of the following phenomena would increase on raising the temperature?
1-Evaporation, Diffusion and Expansion of Gas
2-Solubility, Evaporation, Diffusion and Expansion of Gas
3-Evaporation, Diffusion and Compression of Gas
4-Diffusion, Compression of Gas and Expansion of Gas
Q2 What is the physical state of water at 100°C.
1-Liquid 2-Vapour 3-Bothaandb 4-None of these
Q3Heterogeneous mixture in which the solute particles do not dissolve and remain suspended
throughout the solvent and the solute particles can be seen with the naked eye is known as:
1- Colloidal solution  2- Super saturated solution 3- Sublimation 4- Suspensions
Q4What is the significance of the atomic number of an element?

_1-It represents the number of protons in the nucleus of an atom.
2- It indicates the number of electrons in the outermost shell of an atom.
3- It determines the mass of the atom.
4- It reflects the number of neutrons in the nucleus.



Q5- Write the molecular formulae of all the compounds that can be formed by the combination of the
following ions.

Cu®, Na*, Fe, I, 50,7, PO,*.

Q6-Write the cations and anions present (if any) in the following compounds

(a) CHsCOONa (b) NaCl (c) H, (d) NH4NO3
Q7-State the number of atoms present in each of the following chemical species
(a) COs* (b) PO, (c) P,0s (d) co

Q8-A student heats a beaker containing ice and water. He measures the temperature of the content of
the beaker as a function of time. Which of the following (Fig. 1.1) would correctly represent the result?

Justify your choice.

100°C ; 100°C —_— '

Temperature T Temperature ’1‘

o'c

Ll

Time (min) — Time (min) —»
[a] 1=1]

Temperature T 7

gy 2

100°%C
Temperature ‘1‘

o pr-o-

Time (min) —» Time (mMin) —»
(5] [d]

Q9-Comment on the following statements:

(a) Evaporation produces cooling.

(b) Rate of evaporation of an aqueous solution decreases with increase in humidity.

(c) Sponge though compressible, is a solid.

Q10-Explain why particles of a colloidal solution do not settle down when left undisturbed, while in the
case of a suspension, they do.

Q11-The teacher instructed three students, ‘A’, ‘B’ and ‘C’, respectively, to prepare a 50% (mass by
volume) solution of sodium hydroxide (NaOH). ‘A’ dissolved 50g of NaOH in 100 mL of water, ‘B’
dissolved 50g of NaOH in 100g of water, while ‘C’ dissolved 50g of NaOH in water to make 100 mL of
solution. Which one of them has made the desired solution and why?

Q12- Non-metals are usually poor conductors of heat and electricity. They are non-lustrous, non-
sonorous, non-malleable and are coloured.

(a) Name a lustrous non-metal.

(b) Name a non-metal which exists as a liquid at room temperature.

(c) The allotropic form of a non-metal is a good conductor of electricity. Name the allotrope.

(d) Name a non-metal which is known to form the largest number of compounds.

(e) Name a non-metal other than carbon which shows allotropy.

(f) Name a non-metal which is required for combustion.

Q13--Find the ratio by mass of the combining elements in the following compounds.
(a) CaCO3(b) MgCly(c) HSO4(d) C;HsOH  (e) NH3(f) Ca(OH),

Q14- Which are the six postulates of Dalton’s atomic theory?

Q15-What are polyatomic ions? Give examples.

Q16-What are the failures of Dalton's Atomic theory?

Q17-4 grams of hydrogen reacts with some oxygen to make 36 grams of water. Figure out how much



oxygen must have been used by applying the law of conservation of mass?

Q18-On heating, 10.0 grams of sodium carbonate (Na,C0s), 4.4 g of carbon dioxide (CO,) and 5.6 g of
sodium oxide (Na,0) is produced. Show that this reaction obeys the law of conservation of mass.
Q19-How much sodium carbonate is produced when 224.4 g of NaOH reacts with 88 g of CO; if the
reaction produces 36 g of water.

Q20- 0.1618 g of magnesium oxide (MgO) was produced when 0.0976 g of magnesium was heated in the
air. How much oxygen is required to produce 0.1618 g MgO?

BIOLOGY :
INSTRUCTIONS :
1-Homework is to be done neatly in Biology Notebook.
2-There are 20 questions. Students have to write all 20 questions and their answers in the Notebook.
Q1- Explain two methods to obtain the desired characters in crop plants.

Q2- How and when is Cork formed in plant? Write three characteristics of Cork.

Q3-Draw a labelled diagram of a Nerve Cell and mention the functions of any two parts of it.
Q4- List five Storage losses of harvested crops? Mention two methods to prevent Storage losses.
Q5-Draw a neat diagram of Plant cell and label the parts which differentiate it from Animal Cell.
Q6-Name the organelles which show the analogy written as under.

1. Transporting channels of the cells, —————__ 4
2. Digestive bag of the cell, ————— __ .

3. Storage sacs of the cells, —————__ A

4. Control room of the cell. ——————_ :

5. Kitchen of the cell. ——————_ :

6. Powerhouse of the cell, —————_—_

7. Packing & dispatching unit of the cell, —— —— —
Q7- Give reasons for the following :

a) Raisins and dry apricots swell up when placed in a bowl containing water for some time.

b) Chromatin, Chromatid and Chromosomes are related to each other.

c) Lysosomes are known as * scavengers of the cells’,

d) Plant cells possess large sized vacuole.

e) Meristematic cells do not have vacuoles.

Q8-Answer the following Questions in brief:

a) If a potted plant is covered with a glass jar, water vapours appear on the wall of glass jar. Explain
why?

b) Which structure protects the plant body against the invasion of parasites?

c) Water hyacinth float on water surface .Explain

d) Why is epidermis important for the plants?

e) Differentiate between sclerenchyma and parenchyma tissues.

Q9-Arrange these statements in correct sequence of preparation of green manure.
(a) Green plants are decomposed in soil.
(b) Green plants are cultivated for Preparing manure or crop plant parts are used.
(c) Plants are ploughed and mixed into the soil.
(d) After decomposition it becomes green manure.
Q10-Observe the following diagram and answer the following questions :
a. ldentify the type of tissue and its location in the plant.





















Q15. Choisissez entre I'imparfait et le passé composé.
SUPERMAN

Robert ( travaillait / a travaillé ) & service Canada. || ( aimait / a aimé ) son travail, mais il y (avait, a eu ) un
probléme. Robert ( était/ a été ) amoureux d’une collégue de travail qui s’ ( appelait / est appelée ) Nathalie. Elle
( ne savait pas, n’a pas su ) que Robert ( existait, a existé ).

Un jour, Robert ( écrivait/ a écrit ) dans son bureau quand tout a coup il y ( avait, a eu ) une explosion dans la
rue. C’ (était , a été ) une mission pour Superman! Robert ( entrait / est entré ) dans une cabine téléphonique. Il
( ne savait pas / n’a pas su ) que Nathalie ( le regardait / I'a regardé ). Il ( changeait / a changé ) de vétements en
tout de suite il ( devenait , est devenu ) Superman ! A ce moment, Nathalie ( savait / a su ) le secret de Robert, et
elle ( tombait / est tombée ) amoureuse de lui.

Q16. Remplacez les mots en caractéres gras par les pronoms directs.

Donne ce cadeaua ton professeur !

Retournez son livre !

Elle me montre sa photo d’enfance.

Ne lui préte pas ta voiture !

Je veux voir la tour Eiffel.

Il pourrait nous préter sa voiture !

J'aime mes parents!

Comment trouvent-ils leur chambre, les enfants?
Apres I'accident, elle a oubliéson mari.

Il'va acheter les fleurs pour sa petite-amie.

S® o ao oo

— -

Q17. Trouvez la question en utilisant depuis quand, A qui, avec quoi, jusqu’a quand, combien de, 3 quelle heure,
de quelle couleur......

J'écris a mes parents.

Il écrit avec le stylo.

Il est a Paris depuis trois ans.

Nous restons a Delhi jusqu’au mois d’avril.
Ma robe est blanche.

Virai alagare a 11h.

Il'y a dix livres dans mon sac.

Ce pantalon co(te 80 euros.

Elle téléphone 2 Pierre.

J"ai mon cours jusqu’a midi.

T oeopah b

Q18. Répondex aux questions au négatif :

Vous voyez quelqu’un prés de ma maison? ( ne ---- personne / ne - rien)
As-tu déjaécrit a tes parents? ( ne------— jamais / ne---—----- pas encore )

Vous prenez toujours le plat indien ? ( ne------jamais / ne-------- pas )
Achetez-vous de la viande? ( ne--—---plus / ne---—--- pas )

Boit-il du coca? ( ne------ pas / ne---——---- jamais )

Quelqu’un m’a appelé ? ( Personne ne ------ / ne ----—-personne )

Quelque chose se passe dans cette maison? ( Rien ne -------/ Personne ne ------ )
Prenez-vous des escargots ? (ne---—-—- plus / ne-------pas )

Ils boivent toujours le vin rouge? ( ne------- jamais / ne --—--- plus)

i
j- Tes parents invitent-ils quelqu’un? ( ne------rien / ne------- perssonne ) ! m
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